fmmm AT B S AN EX

R REETHREERGAEEEFAXNERRTE--EE: S-B01 (KRXEE:FF->FF)

P015-02-128: FF , BRI EE: F1, (1 &: [A:-81,5:+172], R~: 350.0 cm * 407.0 cm , BEE: 50 cm

#4 TEHXE #4 TBEGXIE= ((349.96-({REE]7.572)+ BB HEERLg | 12260
I 93+[$EA1]18.3*2)*(Int((406.99-7.5*2)/12)+1)/100= 122.60
M
#4 TERYRE #4 TIEBEFY = ((406.99-[{REB]7.5°2)+ L H|0 #EELg) | 9857
I 93+[$#EA1]18.3"2)*(Int((349.96-7.5*2)/15)+1)/100= 98.57 M
#4 FEHXE #4 FBEIXE= ((349.96-[{REB]7.5°2)+ [ B0 #EELg | 100.31
( ) 93+[$# EA1]18.3"2)*(Int((406.99-7.5*2)/15)+1)/100= 100.31
M
#4 LEHYRE #4 L BEFY = ((406.99-[{REB]7.5°2)+ A B0 #EELg) | 9857
( ) 93+[$# EA1]18.3*2)*(Int((349.96-7.5+2)/15)+1)/100= 98.57 M
BT

AR5 )= (349.96+406.99)*2*[E M iR E]50/10000=7.57 M2
HERR/NET7.57=7.57 M2

RC:TE:
RC = (349.9557*406.9863)*50/1000000=7.121 M3
RC/N&H:7.121+[ i #/2]0.000=7.121 M3

WIREBRCAIE HEA it B R R MR BIRC, b4 B R AT ST RS S TSI
EmstEER

#4=420.048 M (420.048 M*0.994/1000= 0.4175 T)
A/ NET =04175T

H&MR/NET = 7.57 M2

BB /NE=7.121 M3
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